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FOREWORD e _
To implement an educational 'app'roach successfully, one must match the 'philoso; '
phy of evaluation with that of instruction. This is pgrticularly true when individual-
ization is the key element in the educational approach Yet, as important as it is to
achieve this match, the ‘task is by no means simple for the teacher. In fact, without

specific resource materials to help him, he is apt to find the task overwhelming. For - "

this reason, I1SCS has developed a set of individualized evaluation materials as part pf
its Individualized Teacher Preparation (ITP) program. These materials aré designed
to assist teachers in their transition”to individualized instruction and to help them
taitor their assessment of students’ prog,ress to the needs of all their students.

!

- The two modules concerned with cvaluation. Indtvidualizing Objective Testing_and
“kyaluating and Reporting Progress. can be used by small groups-of teachers in in-
_service settings or by individual teachers in a local schoalsenvironment. Hopefully,.

they will do more than give each tcauhcr an overview of individualized cvaluatlon
These 1TP modules suggest key strategies for achieving both subjective and objectlve
evaluation of each student’s progress. And to make it easier for teachers to put such
strategics into practice, 1SCS has produced the associated booklets entitled Perform-
ance Objectives. Performance Assessment Resoyrces. and Performance Checks. Using
these materials, the teacher can objectively assess the student’s mastery of the proc-
esses, skills, and subject matter of the I1SCS program. And the tcacher can obtain,
at the moment wifen they are needed, specific suggestions tor remedying the stu-
dent’s identified deficiencies.

[f"you are an 1SCS teacher, sclcgtivc use of these materials will guide you in devel-
oping an mdwnduahud evaluation program best suited to your own settings and thux
further enhance the individualized character ot your ISCS program.

. . The (‘o-l)irectors
' - ... ... lntermediate Science Curriculum.Study ..
Rm 415, W.H. Johnston Building
415 North Monroe Streét
Tallahassee, Florida 32301
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- NOTES TO THE STUDENT - IR

- Now that you have -gompleted_ several chapters, excursions, and self-evaluations, you
are ready to help your teacher determine how well you are doing. The performance
checks in this book will provide your teacher with this information.” Then your

teacher can help you with things you mdy not understand and can keep a record

of your prog,ress

Read the next section carefully. It explains some important things about the per-
formance checks in this book, and i_‘t gives you specit_'ic suggestions for using them.

What You Need To Know about _Performance'Checks

You do performance checks when you are ready. Per-

formance checks are somewhat like the questions in the self-
evaluations - you do them when you are ready, not when
the whole Llass is rcady. : '
2. Your teacher or both of you decide how many you do.
Your tecacher or you and your teacher together will decide
~which ones you should do. You arc not expected to do all
of the-performance checks. .

.

There are three forms for each performance check. Every
performance check is written in three forms A, B, and C.
(The title of this booklet tells you whether it is Form A, B, or
C.) Usually the answers for cach form are diffcrent. When

- you do a check, you will usg only one form. The A, B, and C
-forms are always tn different booklets.  Within each booklet
all the performance objectives for the same unit ate Jisted
together. A unit contains two ar three chapters and their ge-,
lated excursions.  These. units gre in numerical order. Each -
unit has performance cheeks ba*‘d on core material and per-
formance checks based on excursioris.
4. Each performance check has ifs own number. The number
is in the outside margin of the page and will look like_this:
" ES-03-Core-17A or WB-Ol-Exc 292-2A. These numbers meAn

* .. .
. 14 ) . .
ES -03 - Core -,17 A and - WB -0l -Exc 22-2 A
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A 5. Each performance check is separated from the other
A There § a line before each performance check and one after
it. Some performance checks have several parts, so do every-
thing called for between the lines. If there is no line at the
_bottom of a page, the check is continued onto the next page.
6. Sometimes you will negd to use equipment. - If special
materials are needed, they will be in boxes labeled with the
“same number and sometimes the same letter too as the per-
formance check for which you need them.«
7. .Samme performance checks have two or more answers. If
more than one answer is correct you must select all the cor-
rect choices. In such cases, selectmgjuﬂ:t one answer is not
' enotu,h :
8. Some performance checks have no answers. Occasronally,
you may be asked to do something that is impossible and to
explain your answer. If so, say that the task is impossible
and explain why. L -

This isnt the kind of
checkbook you write in.

et B

9. You share books of performance checks and YOU DO
‘NOT WRITE IN THEM. Write your answers on other paper.
Give the number and form of the performance check for each
- answer you write. If you are to draw a graph, a chart, or a

map, your teacher may provide y‘ou with grid paper or a copy_

. of the' map or chart. .+ .

10. Youi teacher or his assistant wnll collect and mark your
checks. And son‘ictlmcs _you must ask him to watch or .mrst
you a dsyou do a check. A -

1. Sometimes a review..procedure wnll be suggested. If you

- can’t do a performance check, you may be asked to review

) : . a part of the text or a self-evaluation question. . You may
then be checked on the same matcrial, so be sure you under-
stand the material you review. Get help if you need it.

Ly
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" Look at the maps below. During the Middle Ages, diseases seemdd. to break out . -
in one place and then spread slowly and regularly frem city to city. Now diseases
such as flu epidemics seem to-break out quickly in many different cities.in irregular -
patterns. Explain why diseases seem to spread much more rapidly and irregularly
“now than in the Middle Ages. T ' S

~ Epidemics in Europe C o e

A ]

. ES
. 01Core-1A

(Dated linés represent time -
of outbreak) - -

KEY

SYMBOL-

| REPORTED

OUTBREAK

st week

2nd w_eek' -

3rd week

bW IN| =

4th __wcek
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ES ) Get a copy of the map labeled’ ES- 0l -Core=2 from your teacher Suppose that.
01 Cone-ZA outbrcaks of smallpox were recorded as shown below. o
MONTH AND YEAR | NEW ClTlES A'FFECT_ED _
January, 1840 - | Lisbon, Madrid¥Bordeaux, ' S
X Angers, Bristol, and Dublin |~ ’ C
; July, 1840 Marseilles, Geneva, Calais, | % - -
. : Norwich, and Glascow. e
‘ January, 1841 = - -Stoakholm Rostock,
y . ' Berlin, Munich, Tnestc
- | and Naples »
Show the spread of the epidemic by drawing a line-of best fit for each one of the
‘ dates given in the table above. .
ES : s a discase that spreads from one pcrson to anothcr likely to spread.
01-Core-3A more rapidly in a large city or ina ruml area’ _ -
2. Explain your answer. :
‘ "
ES _ 1. Could an epidemic of a discase-like the Black Death posslhly oceur today?
01-Core-4A 2. Explain your answer. oo . S
‘ = - — 3
ES List two or more conditions®hat would favor the spread of an epidemic 4cross an
01-Core-6A entire city. ‘ : . : e
_ - ) v 1 L "
«.ES A doctor has been hired to help the government of a heavily populated country.
“é1 Core 6A His job is to advise the government as to the fastest and most effective way to reduce
" the number of epidemics of serious diseases that sweep the country from time to
,_ time. ic government can afford only one of the programs llstcd bclow
1. Building new medical schools to train more doctors
h Developing an improved transportation system so that doctors can tmvcl
maore quickly - ‘
¢. Building many’ low-cost government housing projects to eliminate over-
crowded and unsagitary living conditions ‘
I. Building new hospitals so that more sick people can ‘receive treatment
. Wh;uh one of the programs above do you thmk the doctor should recom-
mend? S :
2. Explain your answer, L ' ' N
ES ) ln a discussion of a system, what is meant by the term component”
- 01-Core-7A ' 3
ES Consider a bicycle as a system, List three comportents of this system. |, * S
01-Core-8A ' : ‘
‘ N ] )
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below includes some things which are input and output of this component.
a. Light \
b. Gasoline '
¢. Exhaust gases
d. Air | .
e. Time’ ' :
f. Heat

I. Write the letters of two things which are input to an automobile engine.

2. Write~the letters of two things which are output from an automobile

. 01-Core-12A

engine. _
o : ' * . '

¥ — - b - - —
‘What is meant by the term producer as it is used in the following sentence? An oak ' ES
trec is a producer. . o . I : 01-Cote-13A -
’ : ! J ° .. . . ’

4
. , 11

<

ES

Explain. bricfly what system means a§ the word is used in the following sentence. -
Automobiles, ‘the human ‘body, ‘and an assembly line are examplcs of systems. ’ 01 -Core-9A
The diagram below shows a candle-air s_y's;-tcn'n. List any three of the labels which . 'ES
identify components of this-system. : - - S - 01-Core-10A
. \ " |
. o
. dter va or. .
[} ~——
@ /
\,’\‘3\\‘
_ Candle-Air System .
i _
&
Al living things releaseoutput into their surroundings. 1f Hying things are c’g}nstuntly _ _ ES .
- releasing output, explain why we do not often find the output piling up. ' . 01-Core-11A
An automobile ¢ngine can be thought of as one component of a system. The' list ES

L4




01-Core-15A

Some typcs of hvmg things .are known as dec omposem State what is meant by thé

term: dec omposer

N

ES ‘Organisms such as deer and wolves are called consumers What is the meamng of the .
01 -Core- 14A word consumer when it is- used i thls way‘7 ' '
. o .5
( S
\
Ao,
ES

ﬂ

ES .
01-€ore-16A

(bnsldcr the environmental systun pl(,llll't,d below: ldcntljy eauh Lomponent in the

tollowmg, list as a producer, a'consumer, ot a- decomposer )
l Grass growing in agdield - g n
2. Bacteria, which feed on dead rabbits . 85
. 2 Rabblts cating grass in the field '

4. (oyotcs. wlmh roam thc helds huntu’ﬁg tOr rabbits
‘

b

. Bacteria .

. (J
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Sonnmh"cs a pcmon Wll[ throw a'piece of paper ouL of a car window. A smgle shédet ¢ . "'ES '
} of Jpaper. ddes not affect the environment. very much., However, the governments.of ‘ 01-Core-17A
§ R ?ll states hu\w Dassed Jaws making it illegal- to throw trash.onto the: side ’ the -~ IR
road Why do g g,ovemments pass laws that make a little thing Ilke this llleg,‘ﬂ” ‘
, © . R e - ' . .
ey Mr. Morg,a-n is uqucstmg pcnmsswn to bulfd a new fautory in town. The. plans call ) - - ES
*" fot a ‘good" waste-treatment process so that lnqmd wastes will not pollutc nearbyv : _01-C0re'18A'
Strean)s and for an air-cleaping process so thcre w1ll be no,smoke to pollute the air. B r&
o l;fut Mr. Morgan, made a statement to the pre%sagmg that the tdetory wﬁc S0 . .
o well designed that it will not influence-ifs xurr,oundmg,ﬂ: at all. - L, .
l «Can Mr. Morgan sstatement to, the press he true? c / . ' " S,
: . ~ . Vot
- ) 2. Explain your answer. R . IR : - .
* . ’ © N s ( o _t i i . — R
. ‘r » DA . Fa - '~ g . ‘. . e
. - — g .
+In the four cases below. decide: whether the mﬂucm.e on the undcrlmcd Hvinge- . . * = ES.
orgahisms js direct or indirect. After the number of cach case. write either the word D Core 19A
direct or the word indirect. ! _ . ¥
. 1. A city redyces the number of purple martins, which cat m«.euts by drdmlng . - _,..{ .
. swamps tonkill the mosquitoes and&hcr insects. | ' .—K
T LA tree dies because a vine- grows over it and blqbks out the sunlig11i Domwo '
) 3. Trees die drom Jack of wate "bcc,auxc then arcd dround them* hAs bct,n , L.
.o L} - ‘“‘f‘m’“ﬁ,’h ks
LOVCI’L‘d by concrete. . ’ :ﬂ . S .
4. A tarmcr Yeduces the number of loxcs on hls tdrm by" sl)gotmg thcm - o -
_ . 2 / _ — -
o The dmgr.\m‘bcldv shows the food flow through a balanucd system pn a farm. l’rc 0 . .ES
dict what might happen it thc farmer sprayed wnth msectludcs and dcetroyed almost. - ; 01-C9‘r.e-20A\
all the insgcts. : . ’ '
’
’ t -‘ - 3
-~ . : “
- - T . N . - : > T4
A marshy area drains ingo the EvEiglades National Park. Plans ake beipg made to fily . - ES
in some of the marshy arca and construct a large new airport. Give-at least two ways 01-Core-21A
in which the enwironment probably wil[ be affected by pollution from the airpost. . ‘ :
. \.‘l‘ a 1'..'.* ) - . , .‘.’" s . . ’ ". . - -
ERIC . R I X : co B e
. N ' i . . . _ .. N 1 ‘ . . . . l . . '..v.
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ES . .. Somec scientists have told (,ongrg:ss that the avcragc person in the United States has
01-Core-22A ' the same effect on the environment as 30 pérmms leg in one.of the nonindustrial - .
’ < ndtions of the world. Explain how this could be true, -
ES - Select the best answer for the following question, Which of the' following will-affect
01-Core-23A the environment? . ' . .
: . a. A secretary driving her car to-work S
] b. A person pedaligg his bicycle to thic office _ ‘
. “ - ¢. A tree growing in the forest  »
1 C e . Plants in an aquarium kept by a tropical hsh hobbiest in Ins living room
o : ! ¢. All of the above
— - , * — ¢
. ES Describe the input and outpyt of gases of the system formed by living things and the .
o - 01-Core-244 atmosphere that surrounds them inthe following situation. Clover grows in a field
C v in which a herdgf goats graze. : '
' ,’ [ {
] . 'a A Q
. oK \‘r
w i " (9
it \Y
¢ Clover -
. Goats =3
ES - List two things whigh are lnput to and three tlnngs which are output Imm the ’
01-Core-255 hunran body. - ,
o T,
A ' =
\ES - - © The system pictured below is in balance, ' ‘
01-Cqre-26A ' I. What is likely to happen to. the fish in thc pond when the housewives in

the village on the hal switch Imm soap to a phosphate detergent?
2. Explain your answer.

-

a

Village

‘

CO2 &
0, : *

Dead \
Fish \’\glga\e
Q xAiga_e
.. —

Planktoh m




Your teacher will observe you fog this eheck when he can. _ S ES
' : 01-Core-27A -

Your teacher will observe you for this check when he can. : ' : ES
' ' 01-Core-28A-

Your teacher will observe you for this check when he tan. ' ' ES
. . ' 01:Core-29A »

' - .
o Your teacher will observe you for this check when he can. ES
' e 01-Core-30A

~ Your teacher will observe you tor this check when he can. ' ES

’

- 01-Core-31A

“T'he following table lists the total number of ISCS activities LOIllplt‘tL(l by a student ES
e during the first tlnrty days of classes. Get a partially labeled grid or an unlabeled 01-Exc 1-1-1A |

grid from your teacher. I the grid is unlabeled, draw and label the axes as shown on

the grid below. Put a suitable scale on cach axis. Then plot the (Iala and draw the

line of best fit. "
: RN o
w
..—
T i S — n
l)/\YS IN l()IAL NUMBl R ob g
CLASS \\(’llVllusu)M_l_’l LTED |9
0 0 | U
S . e e e s e et e ene ......-_t (=
5 9 >
e e e e~ — _._-AE R
10 L S - .
1 T S .
i p
20 22 o \
T -2
©2S 24 )
e e Y e e - _ S |Z . 4
- 30 27 <
e —~ - _T___.__
O
-
DAYS INCLASS - . =
< , ,
1. Is it possible for the following reaction to oceur? - , ' ES .
: ‘ ' : 01-Exc 2-1-1A
PhNO3)> + 2KI PbCl,  + 2NaNOjy '
(lead nitrate) (pot_'Jssium ;odiclc) (lead chlorvide)  (sodium nitrate)
3 Explain your answer, _
’ Y < 4
Q




01-Exc 2-1-3A

"_————'——(ﬁi* v )
. o
N ES ) MM QO MO AN
& , + - .
01-Exc 2-1-2A M Kb D
“In the equation pictured above, assume that the symbols A and O represent different
. kinds of atoms. After the number. ot‘ each term below, draw on your answer sheet
' the symbol or symbols taken trom ‘the equation above ‘which illustrate the term.
1. Element - v
2. Reactant S
. 3. Product
4. Compound )
ES Beverly is producing some carbon dioxide gas. The chemical reaction that she is’

usmg, to produw the gas-is

.

/ »

CaCQy  + 2HC - CaClh + H5O o+ €O, ~
(LdlLllllll (hydrochloric  (calcium  (water) (carbon
L,\rbonatc) acid) chloride) dioxide)

Which of the following actions would not nurcase the rate dt which carbon dlox1de
is produwd !
1. Increasing the concentration of HCl
h Heating the substances that are reacting - ' .
. Decreasing the concentration of € a(‘03 )
d Adding a catalyst

Paper reacts with the oxygen m the air in a process that’ is usually called bummg

ES

01-Exc 2-1-4A However, befare the burning starts, the paper must be heated. B xplam why this
heat energy is needed to start the burning process. . . '

ES

01-Exc 2-1-5A

Match the letter of cach definition betow with the number of the term from*the .
ISCS particle modcl to which it applics. -

: Lot .
: Terms X Definitions .
1. Element a. A starting substance in i Lhcmnwl
! 2. Contpound reaction
3. Product , — ¢ b. A substance Lont‘unmb only one
’ 4. Reacfant : kindof atom LT
5. lon . c. A new substance p’roduccd ina
. 0. Molecule chemical reaction .
. . S do A pamdc with either excess posi-
; ) . vé chutge or excess negative
, ' " charge _
R ', ¢. A substance containing two or
S \ more ditferent kinds of atoms .
t . f. A particle that contains equal
numbers of Positive and negative
. . . charges '
Q . l 6



Ernest measured the temperature of two solutlogs,l and B. He then mixed the ES
two solutions and measured the temperature again. . 01- Exc 2-1-6A
" SOLUTION TEMPERATURE,(in °Cy| .
A 18 -
B 19 _
A % 24 : ; -
Select the statement below that best describes the relationship between the energy p
needed to separate the reactant particles and the encrgy released when those particles '
rcwmbme to form products in the chemical reaction. .l
. The heat needed to separate the reactant particles is grcater than the hedt
‘released when those particles recogbine to form products.
b. The heat needed to separate the reactant particles is less than-the heat.
released wheo those particles recombine to form products. ) _
¢. The- heat needed to separate the reactant pdrticles is equal to thc hbdl ,A-.'f
. ‘released when those particles recombine to form products.
d. From the information given, you cannot tell which energy is greater, \
Men in.a gun club have spoken with a legislator about wolves. - The men claim the ES

“wolves are kllll% off the deer population in the arca and reducing their huntmg

They want a bounty on wolves to encourage people to shoot-them. Their argument

is that thes wolves don't do anyone.any good and that klllmg them would provide
better deer hunting. What information should th legistator try to get to help him
make¢ a decision? \

. !
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What is meant by the term biochemigal oxygen demand? . ' . " ES
: ‘ ' 02-Gore-1A
Victoy measuréd the number of microdrgzmisms in an aquarium twice each day fora : - ES
week. A graph of his data is shown below. ' 02-Core-2A
» z
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" Which.of the graphs below best shows the oxygen demand of this population of
 microorganisms?
Graph a. Graph b. )
= 3
. §A ‘<ﬁ
035 < 0 ‘
Z0 si - Z0 '
22 | I 2z
w w9
2% S % <
<0 — <O .
0 1 2 3 4 5 6 7 01 2 3 4 5 6 7
.. TIME (in days) TIME (in days) - '
v ) ‘ ’ *
- Graph c. : Graph d.
: a) . , )
7 2 A\
= ' ; ' = -
O w . Quw
Zn Z0
’ v)
2z o <3 :
£ W (n e &)
@ oy
ok Q&
._Z- o - v —Z- o Al
£,0 1 2.-3 4 5 6 7 _ 0 1 2 3 4 5 6 7 - e
TIME (in days) . ' . TIME (in days)
- P




N - . R ' . ;l* ' “,
. . . s < K

_ ES ° "Joe and Bill measured the time it took fot the blue color to disappear from test
° 02-Core-3A - tubes contammg yeast and mllk Joe claimed that it was the action of the yeast on -
: the milk that caused the color change. Bill said it had nothmg to do with the Veast,
that the milk itself had caused the color: change Describe an activity youceuld do to

determine which boy i$ correct. :

\]
+

T

ES . Select the graph that best shows how the oxygen demand .of a population of micro-
02-Core-4A organisms Lh‘mgub with an unhmlted food supply. -
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Marthﬁ?ut 10 yeast organisms into a large glass of warm milk. Under those con-
ditions, it takes 30 minutes for each yeast organism to divide.in two and become two
yeast organisms. Predict the number of yeast organisms that will be in her glass 3
hours later. . - LT o

\

«

ES .
02-Core-5A

Y]

‘Milo has put a few nmroorgamsms into a gallon of milk, Therc is enough milk and
axygen available to support a very large population of the microorganisms. Select

the g,raph below that best shows how the size of the mncroorgamsm population will*

Al

.change over the next few hours

Graph a Graph b
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ES™ . ' ' Crystal Lake is surrounded by cottages each of whlch has a sewerage line whu,h
02-Core-7A =~ extends into the lake. One summer, the residents noticed that certain kmds of ﬁsh
' ' - " no longer lived in Crystal Lake. THe most probable reason is that
a. the sewage poisoned the fish.- - E |

b. the water stinks too much. ,
c. the fish became discased from the sewage.
d. the water contains too little oxygen.

T ES . ~ What is a-cause of the oxygen death of a lake or stream? . . - '
02-Core-8A . s ' o ' -

ey

¥

3

ES Sewage has been hbwing into Dead Lake. It is now filled-wjth many decomposers. =~ =~
02-Core-9A ~ A civic group says that the decomposers have caused the lake to dlL The group
' wants to spray the lake to get rid ot all the decomposers. )
1. 1Is this a good. xolutlon to the problem?
R L 2.10f so\ explain-why it is good. lt not, suu,est a better solutlon and explain
2o why |t 1s better.

Sk

Y
o

ES S - Monica did a survey of the number-~of fish living'in various parts of a slow-moving
02-Core-10A ~stream near her holise. "She drew the diagram and table shown below.
. | Y

.~

Sewage outlet

. o - Region 4 \
_ Region 1 ——™ . Region 2 — % ' . ' . .
\ . : . . _ . - Region 5 . _\

: B ' . - . [
**! 2 mile P "ll

'REGION OF| - NUMBER s -
STREAM | OF FISH o - o _

-' mzm‘y fish
many fisli
¢ some fish
few fish
no fish

R, T U NP RN

h 1 L4

Use wlmt you have lecarned about the needs ot fish and the decomposition oI sewage
to explain Momed S ob%rvanom ' : ot

4

&“’ ’ ‘ W
« 7 . . ) ' .
o

A ' * . C 21 . " .
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Many cities and .towns which draw water fgom nearby rivers are finding that "the ' ES
,Mgthods they usc to purify their d‘rm‘zzer are no longer good ¢nough. There- ~ 02-Core-11A
“fore; they are building new water purificition plagts tHat use more effective methods
to get the water “*clean™ cnough for human Explaint why the older, simpler
methods of water purification no Iongcr wolk )

.. ’ . -

Mary Beth decided to put potted flowering plants around her kitchen.,  She ES
- bought seeds and planted them. | After several weeks, she noticed that fewer seeds : 02-Core-12A
germinated in the pots near the smk where they got splashed when she washed the ' '
. dishes. Those seedlings that did come up loukcd less healthy than the other plants, '
What probably is the cause of these ditferences? _ : '
Ms. Kelly's students studied the effect of dctcr;_,cnt on the germination of sceds, , . ES - . '
Fer students®used bran, corn, tomato, and pumpkin sceds. On tie basis of your - ** 02-Core-13A

work with radish sceds, seleet the best pl‘tdlLllOll below that you can make about
. theresults of Ms. Kelly's students” activities. '
. a. All of the seeds will have a Iowcn rate of gcrmnmllon just like my radish
K seeds.
b. I have no basis for predicting how the detergent “will affect other seeds. ' ' »
¢. None of these seeds will show a Iowcr germination rate because detergent
d“k‘kts only radish sceds.

d. T can’t predict how the -activitics will turn out because detergent affects

Only root crops, such as radishes, beets, turnips, and carrots,

"¢, Tthink that the detergent will cause a lower germination rate, but Fam not
sure because 1 tested only radish seeds. ' '
Many farmers spray their fields with insecticides to try to kill off all the harmiful - - ES
insects. Lxperiments with sping:of these insecticides show that they remain in the - 02-Core-14A
soll for several.years. Describé an activity that you could do to determine whether
s + the insecticide Malathian will affect the germination of S(]}_l‘illsh seeds, ;
y . ;{ v ‘ . . : . ,

Human body wastes are biodegradable. What does hiudbgrudulrlv mean? ) . ES

_ 02:Core-15A

~ A P S

The Luni¢ Chemical Plant has begun to dump biodegradable chemicals into a nearby ES -
lake. A rapid decrease 0|4|l»\\0|VL‘(| oxygen in the lake has been noticed. Describe , 02-Cote-16A

how the biodegradable chemicals can catse the rapid durc ase of dissolved oxygen
in the lake. :
R . .9

A

ERIC S -

Aruitoxt provided by Eic:



ES

L,
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02-Core-20A

- The fact th’at a product is biodegradable is not a guarantee that it will not pollute a
- 02-Core-17A stream. Which ot the followmg best states how blodegrdddble substdnces gan cause
o pollution?
~a. They cannot be brokcn down into qnmpler wbstances by living organisms.
_b. They can be broken down into simpler substances by living organisms.
o <. They may be a food source for orgamsms in streams which w1ll in turn,
' ‘become overpopulated. - :
d. They will noj be a tood source for- orgamsms thereby dcereasmg the
) : .organisxm'pipulatlon o : : :
ES S Consxd(,r the followlng situation. : :
02-Core-18A .~ Irving Schmitt, a farmer, uses airplanes to dust his crops with nonblodcgradablc .
pesticigdes. $ince he only sprays when there is no breeze, he says that-the w1ldllfz in .
and around a pond down the hill is not affected by his sprdymg ' - '
l Is Irv correct?
2. Defend your answer.
ES | _
02-Core-19A .
B Grasshopper '
‘ Rabbit
>
& u
L. State the term used for the system shown above.
2. Explain what the arrow betwmn the rabbit and the fox in the diagram
means.
. _ _ &
ES The waste that tlows from a certain factory into a river contains large quantities of a’
nonbiodegradable chemical. A chemist tested a sample of water taken from a few

miles downstream from the factory. He could find less of this chenical in the river
water, State two reasons which account for the dlsappedramc of some of this cheml-
cal from the water. C S

23



* The dmgram below shows tour organisms in part of the food. chain in a freqhwater-" N
lak€- that has been polluted w1th DDE, a nonblodegradable chemlcal that accumu- -

. lates in the body of living orgamsms
. In which type of organism would you expect to ﬁnd the hlghest concen-
tratlon of DDE? ~ .

2. In which type of organism would you expeet to.find the lowest concen- |

tratlon of DDE" ' . L

. ‘ ) N .
@ Py l s
' _ Minnow |
Algae :
"{_,'
*‘f - P ‘4

Some widely used detergents can be decomposed by living organisms and are a huge

source of food for them. The population of these organisms increases so greatly

that their waste products become serious pollutants.  Other detergents which are
“not easily decomposed cain accumulate and kill organisms.  What would be the
characteristics of the ideal detergent? '

4

02-Core-22A

Take your Record Book to your teacher. Your taskis either to defend your written

response to Problem Break 4-4 or 445 or to make a satisfactory change in any part
of it that your teaeher questions.

» . ¢+ ES

" 02-Core-23A

-

Lo

Milk undergoes a chemical reaction during storage, Milk is kept in the refrigerator _

rather than out in the warm air. Why does storing milk in the refrigerator keep it
fresh longer? ' '

ES
02-Core-24A

-~

" Gina measured the body temperatures of three different aniinals. She thén changed

thc temperature of their surroundings, waited two hours, and measured their hody -

temperatures again. Hcr data ar¢ shown below.
. ] | !

TEMPERATURE OF BODY TEMPERATURE (in °C)
SURROUNDINGS (in °C) | Animal | | Animal2? | Animal3
29 w40 30 29
4 40 | 43 29

’

Indicate whether cach of t)lc animals is warm-blooded or cold-blooded.

3

2!

ki
[}

ES
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ES

In the body of a rattlesnake, chemical’ reactions OCLUI' which release energy té the

- 02-Core-30A

02-Core-26A ~snaké. The rattlesnake is a cold-blooded animal. When the weather gets cold, the
' ' ' activity ol rattlesnakes drops, only t91mredse again when the temperature mu‘easeb
Use” what you have learned to explam why this-is so.
ES v What is meant by the term thermal death point?
02-Core-27A ’ ! '
_ Lo . ' . . B
AN l
ES . One hot Aug,ust day, Mr. Keith decided to set up an aquarium. He purchased some
- 02-Core-28A fish.  The storekeeper packaged the fish in water in a plastic bag. Hce assured Mr.
. Keith that there was enough offygen in the.bag: for the fish to live about six hours.
y " On his way home, Mr. Keith stopped at-a shoppm&, center. When he came back after
about thirty minutes and unlocked his car, he found tlldt all the fish had dled Ex~
plain what may havc caused the fish to die.
- ES e Clifton stocked his aquarium with guppies and neon tetras. Both fishy have necarly
02-Core-29A thc same preferred temperature range. One morning, he woke up to find that all the
neon tetras had died during the night. -The thermostat on the aquarium heater had
. stuck. and by morning the water was quite warm. Explain why one kind of fish -
died. but the other did not. : e ”
ES Thcrc have been mdn)\ldrgc fish kills begause some factories have dumped certain

chemicals mto a stream or river. Usually only certain Kinds of fish dic

prlam
why only certain kinds ol fish die rather than all the fishin the area. - -

'

ES TGeorge, went fishing during May. e caught a lot of northern pike by tishing the
. 02-Core-31A weed beds in shallow water near the shoﬁ In July he tried the same spots and had”
1o luck .there. but he found that pike were being caughtin arcas where the lake was
deepest. Select the most likely reason below for this.
. « . So many pike were caught in shallow waters that-the rest deudcd o swim
down (lccpcr where it was safer. -~
. The sun was brighter in July, so the fish swam dowi™% where the hght
dldn t hurt their eyes.
The surface water had warmed up, so the fish swam deeper until they
. found water in their preferred temperature range. :
* «. The warmer surface waters were gnore dense, so the fish swam deeper to
- find an area where. the pressure was less. : _ - =
PO S : .
ES The graylingis a type of hsh tlmt lives only in water whwh contains large amounts of
02-Core-32A dissolved bxygen. . ‘ ' .

I. Would you expect graylings to IIVC in cold water or warm watcr’
2. Explain the reason.for your answer. - k

e - - PR |
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Select -the grdph below thdt best shows how the tmperature of water affects the - I -
. . .- amount of oxygen gas that will dlssolve in water : AT T 02-Core-33A
. . P : . . 2 o - : : " ' :
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Rick and Laura cach keep identical fish tanks in their bedrooms. The only difference .- - ES
between the tanks is that Rick keeps the water in his tank 10° cooler than Laura’s. “02-Core-34A
Both bubble air into their tanks. : . | .
. LI an .1eudent were to cut off the supply of “air to both of thc tanks,
would the fish survive longegin the warm or the codl tdnk’ ' _ _
2. State two reasons for your prediction. e . ’ R -?.-3-»"0. o
3 . . ) , . N o
: (-;_ ' ' A . - .“ ’ . ® o ’ . \‘ . o
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TES e Margaret wints to Tearn how fast sea ahemones, whlch are coId blooded orgamsms,'.'-__’.. N
02-Core-35A use ‘axygen., Slle measures their rate of oxygen consumptron at drffcrent tempera® -\ |
o tures Se1ect -the graph below that best shows how yow would expe(‘t the rate of - ’
' | S oxygen comumptnon to relate to temperature L ) SeL Lo mE
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ES What is meant by the term thermal pollution? AR
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Wthh oﬁhe tellowmg is not a result of theral. pollutlon" '
-

- b.

Some fish, be k)iled beeause the water temperature 1s above thur
thermal dedh po . R

The rate at wluc{n sewage is deeomposed by mlerobes hvmg .m the water
is slowed . S N

. The amount of Oxygen that can be dlSsolved in tlre water deereases.

. Some fish may be-driven away betause the water temperature is no Ionger
‘within their preterred temperatyre range. = . . " '

. The biochemical oxygen demand of l;vmg, orgamsms mcreqses

a 0
PN

.ES
~ 02-Core:37A

LT

A state agency has Agreed to permlt local power plants to release water 3°C higher

" than usual tg take carc’of the incredsed power needs. Supporters of~ this measure
' said that it was perfectly all right because. the thermal pollution would be pernutted

only tor the t"urly short period -of. two ‘weeks and no longer. : :

by

"’)

s this. sensrble rcasonmg" a ] v L . > a

bx.plain your answer.” . . - N

XN

3

U ES

02-Core-38A
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Parts of Kansas have the same amount of precipitation as parts of Wisconsin. How-
ever, the vegetation is not-the’ same in these two areas, In Kansas, the vegetation is

mostly grass, but in Wisconsin, the vegetation is mostly trees. List three factors which ‘

- could explain these dltterenw in vegetatron in areas whrcl‘fhave the same amount of

precipitation., ' : N

1 \ -1 -

. _ES
02-Exc 3-1-1A

T

In recent years, several disputes have arisen between Canada and the U.S. about

water rights in rivers that flow from ‘one country.to the other, Fqr example, the

U.S. wants Canada-to agree to ‘restrict the amount of water that is drawn from the
Columbia River so that a certain minimum amount will always flow down the river
into the U.S. e - ]

¥
~

’

-Why weren't therc as many argurmnts about the water ﬂow tl\;,rty yearq

dgo Y '

2. Explaip why some people think that these dlsp\.ltt.s about the water.ﬂow“
: w1|l eontmuc”dm‘ beeome even more senoqs in the tuture : -

Yy -

]

ES. .

02-Exc 3-1-2A

LS

o . .
- L r‘L g i

*I'he. rate at)wlmh trees losc wator to the atmosphere )l 4bout twuﬂy timces g,reater.

than ‘grass. Both trees and grass are “used to prevent soil erosion. ‘A hilly arca sur-

roundmg a“rew housing project is to be plantLd but the amount of water in"the

ground js slightly low.

)

¥ 5

. As the person in chargc of the plantmg would you pldnt trccs only grass,
- only, or some of cach? . . e Lo
2 Explain your answer. : ' o :

"02-Exc 3-1:3A
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«v , ES Start with component nfimber 2 below, Arrange the other ¢omponents by number
P 02-Exc 3-1-4A into thevsystcm known as a water (,ycle to show the order in, whith'they occyr.
s . v . Evaporation : T
' . 2. Water flowing in a tiver | . e e e e
. \ S 3. Precipitation : o
. . * 4, Watcr runo(f ina dramdge dltLII : o
: ' ES . Vman is domg some experiments on the growth pf pldnts\ She neéds to.define
02-Exc 4-1-1A -plant grm[fllz operationally. Give two operational.definitions for plant growth’ In
-", . other .words, state two ways to deteut and 'to measure the growth of Vivian’s plants.
e ‘ — N ﬁtr‘ e 4 . — . 3 .
‘. - A " i y
s ES _ I Most towns treat their drmkmg water with chemu.alb which, contain chlorine and
-~ 02-Exc aN-2A "fluorine. Rainwater usually does not contain these chemicals, . Describe an-experi- |
LR cet menf that you could do to discover whether rainwater and tap water have different
g cttccts on the rate of germination and-the g g,rowth of the seeds which germinate. Be
_sure to“state Mmh variables should be held’ constant and. which should vary
' . ! { ’
1
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‘Dennis Oliver is quite proud of the fact that he dosn’t gontribute to the air-pajiution
- problem. He livcs in a house that, is uompletely powcred by electricity. He has sold
his car ‘md now tmvcls to and front work ‘using the city’s clectmally powered rapid
transit system, ° - :
" 1. Is Dennis correct m assuiming that he (lownt contnbute To the air’ pollu-
' tion proh{cm’ ‘ .
. 2 [.Xplam your answer. - ' .

] P

™ ~r

A certain tcu.tory -in Mlllmllc has always been considered. 1 major source, of -air

_pollution because of the black soot tlom its smokestack. Recently a filtering syqtcm- o

" owas mstallcd tRat collects the solid partnclcs as they tra'vcl up the-smokestack. Now
the sky above the stack is always Ll(,dl' v’
I “Does this factory no longer contribute to air pollutlon,
2. Explain your answer.
U . . L

“ES

03 Core-2A

'

In Chapter 6, you used a piece of sticky ldlpk, to study $olid-particle air pollution. '

Write an. opcmtlonal ddnutlon for solld-pw ticle air. pollution, usm;, the sticky-tape
mcthod. : :

ES
03-Core-3A

A

Consider the size of refuse dumps, clectrical power plants, cars and trucks, major
fires, and industrial plants. How do you expect _the fact that cars and trucks,
which indivjdually are so small, produw thc grea atest amount of pollution as shown

bL‘lOW’ .- R ) N T Ny

b

hH

REFUSE DUMPS

ELECTRICAL POWER PLANTS
*° " CARS AND TRUCKS !
% MAJOR FIRES

INDUSTRIAL PLANTS

1

'Y

-0 C 25 50 ) 75

" POLLUTANTS {in billions of kg)

- . co . . ‘

100

ES
03-Core-4A

The suhstauws hstu‘ below anc pr‘/ucls of combustion. Wlmh oife is not cons
sidered to be a major pollutant’

a. Nitrogen oxides

b. Sulfur oxides:

.. Solid particles

I. Unburned hydrocarbons
. Carbon dioxide- .

t

-~

—

L3

T -
e oe

- ES
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-.b Cduscs rubber and nyfon to dete‘rlomte

.. Causes damage-to cfops
d. Increases.the ratg
C. All of the,se. :

wlmh stone broaks down

.- 03-Core-7A. - -

S'l'leila Wlmt y

She;la Forcing mdustry to remove pollutantq from the output of faotomes
means. that fuutorw.s haye to buy cxpcmlve equlpment, x
Kitty: ch but not removing the pollutants lb exp

How can not spending monu-y t‘o ‘remove pollutants cost

On your m\swer shect write a good response for Knt,ty to make.
two examples ol how releasing pollutants is expensive.

03-Core-8A city where he lives.

Mr. Singer is quite concerned about the effect of the increasing air pollution in the
He plans to move to a farm to escape all the air pollution,
1. Will he escape air pollution by moving to the Lountry

2. Explain.your answer.

'03-Core9A |

Which of the following graphs shows the greatest population explosion?

. (.Sri‘ph b.
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- #Ron raises luunsturs in the bara},c Over the years, his hamster population. has grown',
LOII%ldbl‘dbly ' His mother has laid down the'law!: It his hamster populatlon gets any.

larger, sh¢ will make him get rid of all his hamsters. ,

By answering the questions below, §how low births must be ‘related to deaths to
K kcop the population constant. Assume thdt no hdmstm are sold are glven uway or

csc,apc ' . .
. How mdny deaths must there be in l‘)75 to rusult in a constant populatlon’
b 2. How many births carf thcrc be in 1976 to result in a constant populatnon’
YEAR 1972 | 1973 | 1974 | 1975 | 1976
_ Population-at{ 52 102 169 | 169 | 169
o end of year” | =0 .. .
Births |46 .| 8S [L120 f130 | 2 7
| Deaths oL as. s30T | so oo,

ES

.Rog,cr kt,pt a ullturc of fruit flics for several months. He added the same amount of
foad cach day. EKvery week he counted the number of live flics. Theh he drew the

graph shown below. "At what point in. tmu, is the number of dcaths in the populatlon '

equal to the number of births?

.
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w ' T e "
1 ? .
ES ) Whuh grdph below best mdlcatcs how populdtxons of plants and ammals usually L )
03 Core 12A change with txme" : . , S
. . N ) . . ) . .. . : , : - . AR ‘ _‘.. ‘ v _"”I
| Graph_a.' . Graph b v
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. ES. . “ What are four Vuriablcs_thaf could limit the size of a nonhuman population?
03-Core-13A ' o , A
ES The number of people on the’earth increased very slowly until about” 1700, "What

variables, if any, has man learned to control.or cham,athdt have allowed the human._ _
puhtlon to increase so rapidly since 17007 . Co

ES

'

Take your Record Book to your teacher.. Your task is either to detend your written
03-Core-15A- -
Loy et ‘.,.!'-/ .

——

response to Problem Break'8-1 or Problem Break 8-3 or to mdke a satmfactory change
in any part ot it thﬁt your teachcmquestnon& _

-

'ES

03-Core-16A rcsponsc to Problem Break 8-2 or to make a satisfactary change m any part, of it
N that your teacher questions: & , " ' o

Take your.Record Book te your teacher. Your task is either to defend your written

?

+
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. ( g :‘, v
Consider the following information «bout the world’s population.- . ES
Present world human population = 3,800,000,000 - < - o 03-Core-17A
- Birthrate = 316,000 per day ' . .
Death rate = 139,000 penrday o _
Assuming that the. birthrate and the death rate stay t()llbtdllt how many days will -
it take for the wotld’s populatjon to reach 3,801,000,000? Show your talculations. -
Birthrate |311,000 ) . 03-Core-18A°
(per way) | (high) ' 7 e '
Death rate| 138,200 b e
(per day) |(low) . _
The curreént world birthrate and death rate are shown above. This situtaion rhust '
change if the population is-to stop increasing. Shown below are two possible con- =
dmom wlmh would result in 4 constant populatlon . : _
CONDITION 1 CONDlTlON n" ‘
Birthrate |311,000 « 138,200
(per day) | (high)
Death rate| 311,000 138,200 . . )
(per day) (low) ' .
I. Which” would bc more desirable . - Condmon 1, \Vhlth has an murwscd
, death rate, or (‘ondltnon 11, which has a decreased blrthrate"
- 2. P‘kplaln tln reasons for your answer.
) (s i vk
State how a tempcratuu inversion is related to an increase in the air pollutlon at the: l : - ES -
earth’s surface. 03-Exc 6-1-1A
What is a mujbr ¢ause of a temperature inversion? . :
o co . ' ' 03-Exc 6-1-2A.
I " o - 4 .
ra et ' —
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- ES R - T . Whtch gtaph belqw shows the normal way temperature changes as altltude
' 03-Fxc 6:1-3A .« .increases? - . ‘ )
S 2. Which graph below s‘hows the way the temperature changes wrth altrtude '

. : " during a temperature mversron" £ : oo -
.. - s, . . ‘ - ] . D . . . . . N . )

* _Grapha. _ o o o Graph b. i -
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ES . * Which of the tollowmg varrables drrec}ly mfluence the size of the p0pulatron in any
03-Exc 7-1- 1A. eountry"
. 1. The birthrate C R
, N " b. The death-rate. Y .
¢. The number of cars : o :
d. The number of redheads - _ - . T

- e. The number of storks . C .

) .
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" Tina was doing a.population study of spiders.
eXperime{ltal conditjons, as shown below.

4

u

i

'g. .?5-'3& ‘e

g

She used three different sets of

. ‘ ..
1“EXPERIMENTAL | FOOD SUPPLY | EMIGRATION
| CONDITION | L | |
o | limited _not allowed
I unlimited " not allowed
- . limited " allowed
Four possible expcrime‘ntal results for e'ach of these. experiments are shown Bel_ow'.
XPERIMENTAL | BIRTHRATE vs DEATH RATE
SULT - ) . ‘ . '-l . ¢
LA lchr birthrate and eq'ua'lly low
s death rate
b 'Jower birthrate and 4 lngher death
D . rate
) ¢ higher birthrdt'ehthan ded'th rate _'
T d ~a high blrthrate which is. equdlled
. 2 e by thc dwth rate .o

vy

7
i
v

Ty

03-Exc 7-1-2A -

ES -

1. Based on, thc results ot D Emlen s expenments with-mige, which of the.” b

Ve

experimental results (a b, ¢, or.d) shown dbOVe would you prednct’l‘ma wﬂf

get for expenment 7. -

2. For experiment H?
* 3. For experiment [11?

2

—a

- Suppose'that the following two néw planets hé'\'(;;' been discovered.

PLANET | TEMPERATURE | ATMOSPHERIC . |
| RANGE (in°C) COMPOSITION .
.Faroﬁt -5.to 65 ni trogén and carboh -
. _ . -'droxufc
Outasite 90 to -15 t oxygul and mtroge

£~

;. B

1. Would either of thbbt planets be suitable tor human habitytion without
. support ¢quipment? : :
2. Explain the reasans for your answer.

-« " Es

03-Exc7-21A. "




Each of the graphs below was drawn for the'pOpulation of a different country.

ES
03-Exc 7-3- 1A Match the appropriate graph to the approximate average famnly size in that country.
. Assume that no: d,\ange mt  span. of the individual occurred between 1870. and
"1970. . : :
Famlly Size : -
‘. The.average family had fewer - . .
~ than two children. '
2. The average- famnly had exactly
two children. ’
3.The average family had"more '
¢ - than two children.- ‘ A o
- T Populatxon Curve . - | R
Gra’ph a. ' - Grabh b. . . Graph c
A AT A
N N N
ol 0o X2
Agm' kil s gm s Z >
=z = zH
<9 : < SH-~ 42
w = . w = w bk
£ £ &3
23 z>5 z2
= Q. "-8 1 E
1870 . TIME 1970, 1870 TIME_ 1970 1870 ° . TIME T T1e70-

Y 4 N

™

: ."ES - T “The solid. ling on the ‘graph -below shows how humdn life expeetdney has chdnged in ..
. 03-Exc 7-3-2A the 'U.S. sinde 1920: The dotted. line shows one predlcuon of How-it will change ™
e s durnu, the néxt twenty years | _ : o
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~ - : - ¢
? _§ = s
S - P .
: S 70 . H3HH .
U o [ PR
4
< K
[ B .
Q
a
X 60 :
uj - - .
W y, o .
[V iy -
- - .
. \ ~ A.A' a N ., 50 [ - - u . .
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. 4 TIME (in years A:D.) ' C '
. . + What.could cause a decline in life echc;talwy during the next twenty. years? " ‘
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The graph below shows how life expectancy has changed sinc¢ 1200 A.D. ~ - . €S
A . T o L , 03:Exc 7:3-3A
S - o b, ‘ , s - ._
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. .
Roy hstens to the car radnumvery mormng on higway 10 woyk at the carpentry shop . ES
He leaves the radio switched on, and it cqmés on whenhe starts. the car! Therefore, . 03-Exc 8-1-1A .
the volume is the same when he starts the car to go | me after work as it was in the R - ’
morning., He has noticed, however, that to'heag the radio he has to turn the velume¢ . =~ i
up after work and then turn it dowu again the.next mo mg bccausc it sounds too
loud Explain“w hat mx;:,ht be causmg this daily- ch‘mgc m R
—— oz :ﬁ . - 25l - g
\ ' l-f‘.‘ " .
~ ’ .. 3 8 | - .
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ES s o B Ralph wanted to measure thJpeop_le’é hearing changed with age. He measured the -
-03-Exc-8-1-2A - hearing index of a humber of people. He bpe’ratiqnzi_uy defined hearing index as the
o : decibel level of the quietest sound that the person could hear. :Which of the graphs.
' below shows how the hearing index, as Ralph defined it, usually changes with age? .
Graph a - . Graph b.
3 . 8
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: A thcrmoqtat tou,thcr wnth a furnace 1§ retcrred toasa system ‘What is meant by wB
o the terim sys@na _ ) 01-Core-1A-
—*f— = d \ - | q . .

The toilet Ylush tank diagramed below can be thmu,ht of as a system wB
; » ’ ‘ 01-Oore-2A
. Flogt =) ' : -
: TML' ' ,"' R » -
] ) ~ Release handle. -
Toilet flush tank ——-4-|- ~. ' :
* K - .
. : . . ' Hinge
" Valve cap T -
. - A / ~ Qutlet-cap
- ):‘-".' - . : N ;* ¥ : - - 1 |
AL -
e ; . " Water pir{ ' I :
When the release handle is pushed, the Water rushes out of“the ffush tank. The
4 Moat drops down Taising the valve cap and allowing water to flow up into the X
flush tank. The float rises, lowcnng the cap., until thc cap stops the-inflow of water
u)mplclcly, -
[. ldentify - thc stlmull and 1csponsu that make this a negative tccdl)auk ‘
' systcm :
2. Explain why lhls IS an anmplu ofta. ncg,atnvc feedbidck system. -
. Louis measured {he temperature inside an incubator used to keep eggs warny hefore WB
they hatch. He plotted lhc lcmpcralurcw recorded in the incubator on the grid shown 01-Core-3A
below. . .
N
Lo 32
] 6 N . -
oo 3
£ .
X g - 30 ] ] ] L:\ v A%}
2 29 )4 - .
w < T - . LY
i A IBNS ’ ) .
S, 27F4A4 \ '
- T - = \c
] 4l i et .
. o 25 v - ‘ ~
' 0 20 40 60 : b
" ' L . TIME (in minutes) .
~. C. ’ - R Lo - A F-
- ! f . [ 4
" At what lcmpcmlulc (set pomt) is lhc ?hcrmostat set to control the temperature of
. thie nuulmtor? é - - s '
. . -
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The thérmostat is used to reguldte the temperature inside a refrlgerator ‘The dmgram

.below shows how the refrigerator-thermestat svstem works.

Thermostat

Temperature Thermostat . S
rises above senses the sends message Refrigerator
set point increase. to turn turns on
; . refrigerator on o
AN : |
il 1.C
Y] . ° . . . < /
N ‘1 Thermostat Th t ? Temperature
- -Refri - L3 sends message ermosta C
. B refrigerator off . decrease set point

. Write the lotter of thc graph that bcst shows how the temperature changes inside a

closed refrigerator.

Graph a.

" Graph b.
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01-Core-5A

<- Suppose that in January the thcrmostat that helps control the temperature m your

s dassroom gets broken.

" 1. Predict one t'hmg that mlght happcn to the room tcmpcraturc if this

ouurrcd

- ] 2. Explain why it would . happcn

o+

.‘
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The formula used to calculate the amount of heat needed to change thc temperature
of water is . . g _ .

, ¢
8

calories = mass of water (g) X change in temperature (°C).

. “How many-calories of heat are required to mlsc the tunpuaturu of 650 grams of o
water from 22°C to 38°C? T .
v R .
{ Give an operational definition of calorie.. o ' - s “WB-
T ' | N | " 01-Core-7A
How many calories equal 1 Caloric?, B ' ) a - WB
' 01-Core-8A
Select the statement that best indicates what happens in the body to the cncrgy in - . "WB
Iood which has been caten. 01-Core-9A

a. All of the energy is used to kucp the- body at a constant’ lcmpcrdturc
b. Some of the energy is used to keep the body warm, dlld the rest is used to
do work . .
. The' cuergy, is used to keep the body temperature constant and to do work: ‘ .
. : dny that is 16t over.is stored as fat., e ’ T
J d. Most (?thc energy is used in doing work: thn, wsl is used to ku.p the body
_at the cotrect temperature. _
. The energy is cither used to do work or stored as fat tlmt can be usul as an _
energy source between meals. . ' L . o o

- L\

Liz. wants todose some weight without taking dlll{..\ What are two different ways _ - WB i
Cor she can do. this? , ‘ ' o : *01-Core-10A ~°

A

Susan Wants to-lose five poun’ds. She has*adjusted her dict so that her food cncgrgy o . WB
input is 1,600 Calories per day. ‘Her body requires 2,100 Calories edch day tor dping . 01-Core-11A
work and for tgmperature control. How long will it take her to lose, five pounds? : e
" Show all your work, (Note: A poun(l of body fat represents about 3,500 Calories . -
of'stored energy.) .

L

.

Good diet plans suggest thul a person who is trying 1o lose. weight should cat 4 WB*
variety of different foods. “I'he diet usually includes leatysvegetables, meats, yellow ' 01-Core-12A
vegetables, and fruit. Why do good dict plans stress cating nmny difterent kmds of ' .
food. as wellys decreasing lhc total food ml.lkc’ ‘ “
Your teacher will observe you'for this check when he can. 4 S . wB '
s ’ S ' 01~‘Core'-13A
e ’ \ )
| S e bao  ws ’ . A g AT & L
& o [
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01-Core-17A

WwB . Yout teacher w@ll observe you for this cleck when he can.
01-Core-14A - ’
‘WB Your teacher will obser “you for this check when he can. v ‘ ‘
01-Core-15A ' /vc , t"~ ' _ B A
- WB Yoer feacher will observe you for this check when he ean. S
01-Core-16A - ' ' )
wB~

Your teacher will observe you for this check when he can.

1

3

-~ -

WwB
01-Exc 1-1-1A

’

——

Which of the tqllownu, is used to measure umts of heat energy?
‘ a. degree
' b. milliliter.
¢. newton
d. caloric - s . : .
¢. tempegature ’ o

. . . P

A,

~ WB In Excursion -1, you found that a single burning pcdnut gave oft more hbdt than -
. 01-Exc 1-1-2A five burning marshmallows. Sclect thc best possible LOIILlUbIOIl tlmt you could draw
from tlns activity. : :
' . All-foods give off the sume amount of heat energy when they drc‘burncd
i b ‘Al foods contain different antounts of licat eneegy. ' p
¢ - ¢. I cannot edict -whether all” foods give off differenit amounts of hcat'
' cncr‘g,y whet burnc;l “because | tested only marshmatlows and peanuts,
. d. Other foods probably give off dlllcrmg amounts of heat cenergy when
‘ + burned. but- 1 cannot be sure because 1 tcstcd only peanuts and marsh—
mallows ,
t \
wB : Oscar performed an’activity and found that-three burning nmrshmzlllo‘vs released
: 01-Ef(c 1-1-3A 2,760 calorics. How many Calories is this? - . . _ o,
i _ -
WB Supposc you wérc trying to reduce the number of Calories you consumed. Which gne
01-Exc 1-2-1A of the following foods would you most want to avoid? .
' a. Corn, which is mostly starch
) b: Roasted peanuts, which contain.a-lot 01 tdts and oils
- ¢. Fish, which is ml\ in proteins i l
. 4
) .
. | | )
- )
: ’ v
P - - ¢ . .
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l. Potatocs may be prepared several ways. Which method of preparation
gives you the largest.pumber of Calories?
a. Mashed potatoes’
b. French-tried potatoes
¢. Baked potatoes
d. No difference
2. Explain your answer.

8}

wB
01-Exc 1-2-2A.

~

Dr. (‘artney told a.health cl.nss that it is very important to have a well-balanced diet.

- 1. Did he mean only that a person should count the (‘aloms in thc foad he"

S cats?
2. Explain your answer.

wB

'01-Exc 1:2-3A

Michacel has kept track of the amount of time he spent doing various actlvmes Part

of his activity chart is shown below. What is the total number of (.lloncs he uscd
doing those activitics? Show your work .

A(*TI.Vl'rY TIME CALOR_IES s T honv SIGHT
. (in hours) | (per pound of body | (in pounds)..,
- weight per-hour)

- 01-Exc 1:3-1A

wB .

Blcyclmg(slowly) o : .1 . 140
Latmg, . i I _ 0.2 (40 s
\ .
» , ’
! * * .
: \
-~ . L]
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_Whtwwcstigulcd the effect of the cigarctte-smoke solution on the germination

: wB
of corn seeds, you were asked 10 set up a control. Why are controls necessary in such 02-Core-1A
, “activities? ' ' :
I
List three different chemicals or types gf chemicals that are found in cigarctte smoke. WB
' ) ' 02-Core-2A
The diagrams below show the epithelial tissue from. the windpipes of three different : . wB
i . P . - R e it ensatt gt i S PP N et AR A MGNRL eng gyt
people. One person is a heavy smoker, one smokes a nioderate Ameu AR d o wHTY S 7 2.Core-3A M
nonsmoker. Mateh the letters of the proper diagrams betow with-th¢ numbers ot the
: . ety b
labels. L - . ‘
. Types of Smokers Diagrams of Tissue ' _
I. Nonsmoker : '
2. Heavy smoker Goblet cells . ¢
) T 3. Moderate smoker
. Diagram a. o ' i
\ . . ]
[ -
i 14
A
&
. "Diagram h. .
. .
'\_ ¢ ¢
\ 4
L]
-
¢ -,
‘ Diagram c. .
L] . .
» v *
1
(7} ' ) 0
- . ) ) . . P
Q ' ’
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dependent on the drug and :
(b)\ explain your answer.

» Situation 1. Ruth tried a new brand of cough syrup last year when she had a

' \\ severe cold.  She told friends, “It makes me feel great.” Now, she
* almost looks forward to catching a cold so that she lms an excuse for

* taking some more of that cough syrup.

By bam Wad problems with a runny nose. She found that a nasal

ay helped. She used it for four months. Then, she found that if

| didn’'t spray her nose. it would run worse thgn cver. : Y

> L

Situation 2

-

\

-/ w8 W}mh of the following is net an effect thdt smokmg has on the body?
/ 02-Core-4A a. It reduces the number and dCthlty of, the ulla in the epithelium of the
windpipe. . '
b. It increases the mucus-and the chances of having a cough or other resplrd-
“tory problems. »
“¢. It reduces the breathing rate. : '
- d. It tends to break down the walls of the air sacs in tHe lungs.
) e. It increases the heartbeat rate. :
u\:‘mm - - S— S 1 - . — I . ﬁﬁ‘
wB ' T hroughout the late fall and carly winter, John counted the number of pcoplc who
02-Core-5A © wore scarves to school and the number of people who had colds. He found that as
: ~ the number of people wearing scarves Im.l'CdbC(l the number of people w1th colds
also increased.
' I. Do these data prove that wcaring a scarl’incrcases the chanccs ofcatching
acold? : -
2. Explain your answer.
. y
wB : The following statements refer to the death rate among people who smoke. Indicate -
02-Core-6A which of these statements is not correct.
: _a. People who smoke are mrore.likely fo die of lung ¢ancer than nonsmokcrs
. b. Smokers ‘who inhale deeply have a higher death rate than people who
B smoke but do not inhale.
¢. The death rate for people who stop qmokmg, is just as hl[,h as thc d(.dth
rate tor those who keep smoking. :
d. The.death rare for people who smoke fewer cigarettes a day is lower than
the rate for those who smoke many.
wB ‘ _ Some people are said to have a physu,al dcpuldcncc on tobacco. Give'al operational -
02-Core-7A -dchmtlon tor physical dependence.
wB State an operational definition for psychological dependence. ; )
. 02-Core-8A S P,
‘WB , 1n cachof the following situations ] n o
02-Core-9A .\ indicate whether the persdn described is physically or psychologically
[ ‘,
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Mrs. Jones is pregnant.  Her doctor advised her to stop using antibiotics to control a . “WB/
rash on her face until after the baby is bogn.  Explain why the doctor is concerned 02-Core-10A
about the drugs Mrs. Jones tuki‘s while she is pregnant. ’
‘Ron ihd took i drug that secmed to affect his sense of halance: He could not stand . . wB
up'straight, but would lose his bafance and fall. l)mbmm and label a possible ncz,ath . 02-Core-11A -
deh.uk system that might no longcn be working hmausc of this drug.
— AN
e ~‘.L PSR >N P AR 5 A D PPN TN .&“4 SRy LRI ST\ Kb i KT NPT - e ;
Wh.ll are two different ways that mcssagc are sent in the human hody’ ) wB
b ‘ \ 02-Core-12A
Many people are l)cwmmz, concerned about lmrcasnu, dnu., abuse. Explain the dll- ' wB
" ference between drug use and (lrunhuw ' 02-Core-13A
. 'Q.
Many plants and animals 1/( made up of the parts listed below. Arrange thcsc par\» WB
in order from the simplest fo the most complex. ! i 02-Exc 2-1-1A
I. Organ S ) '
2. Cell </ ' | , o \
3. Organ systofn - B . ‘ ‘
4. Tissue  / , : o .
Why is it mecessary for most plants and animals to be composed of many different : wB
kinds of cells instead-of just one Kind of cell? _ - 0{-Exc 2-1-2A
. : , ) RS W T
: ; = . —— — =
List threesadvantages of interviews over written questionnaires. ' \ . wB
— ' C o _ ‘ T \ 02-Exc 2-2-1A
/; : i . ) 1 :
7 DN 1
lhe campanies that take suerys of public (:'pmlon usually spend a great aeal of ‘ . ws
moncy fraining their nfterviewers,  In cach sefies of interviews, the interviewers are .« 02-Exc 2-2-2A
Zoxpected to ask exactly the same questions, Gsing ex aully the same tone of voice. . ' '
Why is this training important? o ' , S
Many syrveys use written questionn: nrcs rather than personal mlcnvwws despite the WR
advantages of an interview. What are several advantages of using a wrlltcn qucmon- 02-Exc 2-2-38
n.mc" ) _ ) -’
: . : . .
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wB - . Arthur wanted to do a survey .to determine student attitudes toward drinking ¢ .
02-Exc 2-2-4A alcohol. The first part offlis. questionnaire is shown below. : '

. SURVEY OF STUDENT ATTITUDES TQWARDS ALCOHOL
i;-‘ 1."What is yo_ur:name'._’?'- - : R A
* 2.'What is your age? '
[ ] 10-15 years old
LD M82lyersold
ey - » 7 - 'r s l . 2]yca}s"o]d0f' older 8 - g - ST Ce
3. You don’.t drink alcohol, do you? . ’
P | 1 yes : )
[ 1 ne . |
- 4. Do you think that people who drink are very bad?
! g{ yes
i I no ’
Improve this guestionnaire by rewriting it and making at least three changes. ot
‘WB ) The diagram below represents the human circulatory’system.
02-Exc 2-3-1A * 1. Name the-organs indicated by letters'A and B.
‘ 2. Name the kinds of blood vessels indicated by letters C, D, and E.
. ] ’ é_
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The, diag{ani below represents the human ciréulatory system. Indicate the path that ' - wB
blood flows through the body by listing, in order, the letters that correspond to the 02-Exc 2-3-2A
various parts. Startand finish with the part labeled M. - . S
L
i -
b A
.g. .
L -
\-
: G -
. '
wle,
|
\ 1 ) - - . ; . . . ) ;
State .two things -that the red blood cells do which make them important to the _ | WB
functidning of the body. : ‘ - , ' 02-Exc 2-3-3A-
) v
/.
.y . ,
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Some people tiuke drugs that are dcpres'sants. Defte depressant,
P ‘_'

Y

L wB

¢ 03-Core-1A

— ™

l Why is the. blood-alcohol test not always fair? ' {
2. Why might testing a driver’s reaction time be fairer? ’

Suppose a person has taken a depressant. List two cffects of the drug that you might WB
notice in the person. . a -t §. 03 Core-2A -
: I ’ P i : ¥ 4 .

" Physicians ottcn use dcprcswnts to treat people who are qlek Select the helpful WB,
cttccts of depressants which might causc a physluan to prc%nb_; them o 03-Core-3A
. ~a. To prevent epileptic seizutés o . T T T TR T T e

. b. Torrelieve the pain from cancer ‘ .
¢. To help a person react faster I.. S
d. To increase alertness '
~¢. To reduce the tendency to cough '
L -

- The graph below shows the distance required to stop a car at diffetenfspeeds. One ; wWB
line shows the stopping distances for a normal driver.” The other line shows the 03-Core-4A
stopping distances for the same driver after he has been drinking. ~
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Z . ' o
o 200 ' . )
O ; -+ ¢
5 100
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g s .
P SPEED (in mph) )
" ~ 1. Which curve represents the stopping distances after the driver has been
- dnnkmg’ A
2. Explain why the driver lms lecrcnt stoppmg dlstanw curves before dlld
dttcr drmkmg : -
/ - N
Most police departments use a blood-alcohol level test. 1t tells whether a driver who wB
_ has been drinki\1g should be charged withedrunken driving. Somé people have sug- 03-Core-bA
gested tlmt testing the drinking driver’s reaction timeqwould be a better test. ] N

>
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WB " Three dift'er_e:nf-;;ie_:o;)'le,. all about the same size, took the.drugs liste.dI below;\\ ]
03-Core-6A - - r — .= N
/ Person | 1 2 ozwhiskey IR S Coe \ PR

Person 2 2sleepmg pills | SR - .

. : e Person 3 ..-': 1 oz whiskey and I sleepmg p1]l - S L \
- S ' l Which person is hkely to be dffected most by these drugs? - - '
2. Exp]dm the reason tor your answer, '

O T T S cor e L a e

. . L PRV AP S O S L T N cew

"WB © ... Indicate whl(,h of the itenss in the list be]ow are - USeful properties of a. stimulant
03-Core-7A <~ pre%nbed by adoctor. - : - :
o . Relaxes people who tend to bv nervous oo

A b Relieves severe pain . '

. ) ¢. Reduces the appetite . . \

. Helps people get to sleep and hdve a good rest
. Helps cure an upset.stomach

9

ﬁ:

5.
o o
X

wB ~ Stimulants can cause ;)hysical and psychological changes in a person who uses them.
03-Core-8A - + Record the letters of any of the followmg, which can be effects of stlmulints
IR . a. Nervousness o / _
' ' b. Physi&l depmdcnce on the drug . B
¢. Flashbacks -- experiencing the effects of the drug at a later {ime when the
user has not taken the drug recently - ' :

d. Loss of appetite ' : - ' ’ ‘ '
¢. Increased heartbeat rate -

k..

i -

A

+ WB C Y Mr. Harrison is a long-distance truck 'drivcr ‘He says he takes pep pills, wluch are ' -
03-Core-9A stimulants, when he is on a long haul because they ehmmatu the need tor sleep LdllSLd
' by dnvmg‘équ hours. A : : e
I. Arc pep pllls rcally an cffective substitute tor sleep? ' .
2.-Explain your angwer.’ ﬁ ' _ D 2

4 < - . _ T .
WB . What is mcant when a person is said to be developing a tolerance to a drug? -
03 Core-10A" . | - 3 «

\,
A
L
~
RN
N

e wB E Mateh cach drug with its possible source. B »
03-Core-T1A Hallucinogenie Drugs ' Possible Sources . 6“ . IE

oLSD - . “a. Fungus (mold) on grains
2. Marijuana b. Hemp plant :
Mescaline "~ ¢. Mushrooms . , i
Psilocybin d. Peyote cactus ¥ '
¢. None of these

halle
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A sclentlst is mterested in- medsunng the effects of mamuana on.a person 's driving ‘WB
ability. ‘Below is his operational definition of driving ability. - 03-Core-12A
A person’s driving ability is -detected and measured by his score on '
* the -written test of the rules of the road. The hlgher tus score, the
- - greater his drlvmg ability, is.
1. 1Is this a good operationgl defmmon of drzvmg abzltty"
2. Explain your answer.

»

.Suppese that two people took exactly the same amount of a hallucinogenig.drug. . .. .. .WB '
1. Would youexpect them both to experience the same psychological etfects? 03-Core-13A
"~ 2. Expldin the reason for your-answer. :

« * . Supposeagood friend of yours has some LSD that he wants to try. He knows that | WB
BN 'you have been discussing the effects of hallucinogens in your science class. . “What ’ - 03-Core-14A
undesirable or unpleasant things could this. LSD do to me?” he asks you, '

List at lcast four dlttcru\t thmgs you could tell him.

+ N\
.\_

= & T
Dor\s(nys‘. that all this talk about LSD, a halluunogen causing bad effects is just meant - WB
to scare people. He says that he has taken LSD ten times in thc last year and has had - 03-Core-15A
no bad cffects.  * s . : o
1. Ilou Don’s cxpcmnw prove that lmlluunogcns do not praduce any bad - ’
effects? :
2. State' two reasons which support your answcr g
What is a placebo? . _ o ' L WB
i B : . _— S o 03-Core-16A
- When scientists test the effectiveness of a drug, ‘they give some people placebos and oo L WB .
. - some people the drug they are testing.” Explain why they do this. N 03-Core-17A
1. Explain what is meant by double-blind experiment. : o ' - WB
9 - 2 Exphin why dotible-blind experiments are used. *° . 03-Core-18A
. . ) & . .
Jim wants tg find out. whether cottcc that contains caffeine tends to keep people ' - 'wB
awake at night. To investigate this, he is giving his brother Tom and Hiis sister , 03-Cote-19A

Susan each a cup of coffee to drink ‘every ¢vening before they go to bed. Semetimes
_ they get regular coffee and sometimes they get decafteinated coffec. FTom and ‘Susan
never know which kind they are: getting. Jim is keeping track of when they get the
“regular coffee and when they get the decaffeinated coffee and of how well-they
sleep. ‘ : ‘ '
2 Is-Jim’s experiment a doublc-blind c‘xperimc_nt-.’ : . o . K
2. Expftain your answer. '

N
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wB o "~ Your text wggests that there are two kinds of reasons why laws are_passed. State_
03-Core-20A."~ . the text’s reason that each of the following laws was passed. _ PR

) : l There shall be no shooting of guns within the city limits. ST -
There shall be no gambling by perqons under the age ot 18 '

—

wB ' ' - In Chapter 6, you rdad that laws are passed for two Treasons: One reason is to pro-
03-Core-21A tect people from other peopk ‘The other reason'is to support certain moral standards. .
' 1. Does the following law fit one of the above categones’ “Lveltyone buymg "
" things in Etie County must pay a 4% sales tax.” )

2. 1f it does, cxplaw. If it doeqn t, explam the feason that such a law
: might be passed. '

c . . P . 2 o - N
4 1 °

A v - - %

wB i . For each of the tollowmg, mdluate whether it is an: 1llusmn (I, a delusion (D) or a
03-Exc 5-1-1A hallucination (H). -

. : l While driving across a desert, abrqon sees water on the road in the distance.

2. A person believes that the whole world is designed for his benefit.

? A driver stopped at a traffic light -feels that h1.s car is rolling backwards
when he notices the car next to him moving ahead. * ) .
4. A person on an LSD trip says he tastes the music. - _ T
5. A person believes that if he wears anything yellow, he will have bad luck.

1

b
we ' The DSST was used with new and regular-users.of matijuana’ The test could be
03-Exc 5-2-1A  ©  thought of as an operational definition of reaction.tine. . Explain why the DSSTis. +.
: an operational definition of reaction time:, : ' :

N L - . Y
1 : - -

- WB - Larry and Kathy were walking home from a mowc one cvcmng They paqscd one
03-Exc 5-3-1A - house in which a very loud and noisy party was going on. Larry said that it soundcd
like a pot party. Kathy thought it sounded more like a drinking party. -
I. Were the people at the party more likely to haw been s:mokmg marijuana
' ordrmkmg alcohol? = - , .
L ' 2. Explain'your afiswetr. U

b . »
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